Find the Proportional Relationship

Name:

1]

Which linear equation gives the rule for this
table?

Proportional Relationship

Show your work

#2

Fill in the missing number to complete the linear
equation that gives the rule for this table.

Proportional Relationship

0 0
1 8
2 16
3 24

Y= X

Show your work

#3

Fill in the missing number to complete the linear
equation that gives the rule for this table.

Proportional Relationship

0 0
1 3
2 6
3 9

Show your work

[®)TeachMe

TeachMe, Inc. ©2025 All rights reserved.

CC.8.31 Page 1of4



Find the Proportional Relationship

Name:

#4

Fill in the missing number to complete the linear
equation that gives the rule for this table.

Proportional Relationship

0 0
1 6
2 12
3 18

Y= X

Show your work

|45

Which linear equation gives the rule for this

table?
Proportional Relationship
1 1
2 2
3 3
4 4
y: 3X y: 2X
Y= 1x y:4x

Show your work

#6

Fill in the missing number to complete the linear
equation that gives the rule for this table.

Proportional Relationship

1 7

2 14
3 21
4 28

Show your work
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= | Find the Proportional Relationship Name:
Which linear equation gives the rule for this
table?
1 3
2 6
3 9
4 12
y=3x y=06x
y=1x y=bXx Show your work
#8
Fill in the missing number to complete the linear
equation that gives the rule for this table.
Proportional Relationship
1 5
2 10
3 15
4 20
p— X
y Show your work
Which linear equation gives the rule for this
table?
1 6
2 12
3 18
4 24
y=06x y=8x
y=5x y=4x Show your work
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Find the Proportional Relationship Name:

#10

Fill in the missing number to complete the linear
equation that gives the rule for this table.

Proportional Relationship

1 5
2 10
3 15
4 20
y Show your work

Fill in the missing number to complete the linear
equation that gives the rule for this table.

Proportional Relationship

1 3
2 6
3 9
4 12
p— X
y Show your work

#12

Which linear equation gives the rule for this

table?
Proportional Relationship
0 0
1 8
2 16
3 24
y:9X y:5x
y=T7x y=8x Show your work
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= | Find the Proportional Relationship Answer Key

Question Answer
#1 choice 3
#2 8
#3 3
#4 6
#5 choice 3
#6 7
#7 choice 1
#8 5
#9 choice 1
#10 5
#11 3
#12 choice 4
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